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Quiz Rule
• Quiz time: 18:30 – 20:10, 100 min
• One available sample input / output
• 10 test cases (inputs / outputs), which are not 

available to students
• No Internet, but you can bring one A4 page note
• We will have a roll call in quiz time
• Register contest before 18:30!!



Register Contest

Register contest before 18:30!!!!
Or you can’t attend quiz.



NTHU Online Judge

http://acm.cs.nthu.edu.tw/



Problem Descriptions



Submit Your Code

Paste your code here



Check Out Your Results



Possible Results
• Compile Error  
• Wrong Answer
• Runtime Error
• Restricted Function
• Representation Error
• Time limit exceeded

Per test case



Possible Results
• Compile Error: the code CANNOT be compiled  
• Wrong Answer: the code can be compiled, but the 

outputs are not 100% identical to the expected results
• Runtime Error: the code can be compiled but faces 

errors during execution such as segmentation faults 
and division by zero

• Restricted Function: the code invokes some system-
level functions such as fopen() 

• Representation Error: the answer is almost correct 
except for some spaces or newline characters

• Time limit exceeded: it is probably that your code 
contains bugs that lead to infinite loops, or your 
algorithm is too complex



Compile Errors
• If the code cannot compile in your environment, 

either, you should read the error messages and 
resolve the errors in your environment.

• Online Judge can show what compile errors are



Runtime Error
• If your main function return non-zero values, OJ 

views it as a runtime error
• For example, the following code results in "Runtime 

Error" instead of “Wrong Answer”

• Similarly, exit(1) is interpreted as a runtime error

#include <iostream>
using namespace std;
int main()
{

cout << "these are definitely wrong answers";
return 1;

}



Runtime Error
• Segmentation faults and division-by-zero are also 

runtime errors

#include <iostream>
using namespace std;
int a[100];
int main()
{
for(int i=0; i<10000; i++){
a[i] = 1;

}
return 0;

}

#include <iostream>
using namespace std;
int a[100];
int main()
{
for(int i=-10000; i<10000; i++){
a[i] = 1;

}
return 0;

}



Runtime Error
• If your program uses too much memory, OJ treats it 

as a runtime error



Runtime Error
• Runtime error means that your program does 

contain a bug 
• A bug that violates the policies of the OS

• Runtime errors are difficult to debug
• Your program can behave strangely
• For example, adding useless variables into a program

may change program behaviors 

• Tips: Writing a program carefully in the first place
• Array index, pointers, boundary conditions



Restricted Function
• fork, vfork, pause, create, truncate, chmod, chown, 

lchown, access, link, symlink, unlink, mkdir, rmdir, 
tmpfile, fopen, freopen, fopen64, freopen64, 
popen, rename, remove, fstream, ifstream, 
ofstream, setrlimit, getrlimit, system, sleep, execl, 
execv, execle, execve, execlp, execvp

• OJ can display the function name



Wrong Answer
• You can feed sample inputs into your program and 

check whether the outputs are the same as the 
sample outputs

• It is better to use a text comparison tool for comparing 
the outputs

• If your program work correctly with the sample 
inputs, you should check whether your program is 
not general enough to handle different inputs 

• Runtime error can results in this situation, too



Time limit exceeded
• Your program contains an endless loop
• Your algorithm is not efficient enough
• Runtime error can results in this situation, too



Representation Error
• Answer is almost correct except for some spaces or 

newline characters



Hint

#include <iostream>
using namespace std;
int main(void)
{

//read until EOF
while(cin >> ... ) {
//processing ...
cout << ...

}
return 0;

}

#include <iostream>
using namespace std;
int main(void)
{

//read until EOF
while(scanf(…) != EOF) {
//processing ...
printf(…);

}
return 0;

}

while(scanf("%15s", words) != EOF)



The A+B Problem

#include <iostream>
using namespace std;
int main(void)
{

int a, b;
//read until EOF
while(cin >> a >> b ) {

//processing ...
cout << a+b << endl;

}
return 0;

}

while(scanf("%15s", words) != EOF)



The A+B Problem

#include <stdio.h>
int main(void)
{

int a, b;
//read until EOF
while(scanf("%d %d", &a, &b) != EOF) {

//processing ...
printf("%d\n", a+b);

}
return 0;

}

while(scanf("%15s", words) != EOF)



406



407



• We want 40 students to use R406 (Linux)
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